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N* = N;(1 + PAay), (11)

with the covariance matrix §2N;; after summing over both helicity states. From
this we extract individual detector helicity asymmetries,

N+ N'—
A, = A = PAoy. 12
f\r+ f\r_ i ( )

The covariance matrix of detector asymmetries A; is
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estwte : M
Let the extracted physics asymmetry be @ @ Pa;. The average extracted
asymmetry over all detectors must be covariantly weighted by the matrix w:

wi; = 6°AL = Playa 674, (14)
w@“ gj 9
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The figure of merit equals the denommator a measure of the effective statistics:

A = Y 8L = Y wi; = Y PPMiM;o°N;; =(aP?N,  (16)
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